
WNT5A
ERC2

ERC2−IT1

●

●

●

●
●

●

●

●

●
●

●

●

●

●
●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●● ●

●

●

●
●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●●

●

●

●

●●

●
●
●●●

●

●

●●●

●

●

●

● ●
●
●
●
●

●

●
●●●

●

●

●●●

●●

●

●

●

●

●

●

●●

●

●

●

●
●
●

●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●●
●

●

●
●
●

●

●●

●

● ●

●

●

●

●

●

●

●

●

●
●

●●

●●●

●

●
●

●●

●●

●

●

●

●

●

●

●

●

●●

●

● ●
●● ●

●

●
●

●

●
●

●

●

●●
●

●

●

●●
●

●●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●
●
●

●

●

●

●

●

●
●

●

●

●

●

●

●

●●●

●

●

● ●
●●

●

●

●

●●

●

●
●

●●●

●●●●●

●

●

●

●●● ● ●●●

●

●●●●

55.3 55.4 55.5 55.6 55.7

0

1

2

3

4

5

chr 3 physical position (MB)

−
lo

g1
0(

P
−

va
lu

e)

●

●

●

●
●

●

●

●

●●

●
●

●

●

●

●

●
●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●● ●

●

●

●
●

●
●

●
●
●

●●

●

●

●

●

●

●

●

●●

●

●

●

●●
●

●●●●
●

●

●●●

●

●
●

●
● ●

●
●
●

●●
●●●
●
●●

●
●
●●

●●

●

●

●

●
●● ●●

●

●●●
●

●●

●

● ●

●

●●

●

●

●
●●●

●

●●
●
●
●

●

●

●

●●

●

●

●

●

●
●

●●
●
● ●

●●

●●

●●●●●

●

●●

●●

●

●

●● ●●
●

●

●●

●

● ●

●●

●

●

●
●

●

●

●

●
●

●

●

●

●

●

●
●
●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●

● ●

●
●●

●

●

●

●

●

●●
●
●●

●
●●●●

●

●

●

●●●
●

●●●

●

●
●●

●


